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Annual Examination - 2021

Class: IX
Subject : English (Revised) (First & Second Paper)

First Paper: 20 Marks
Second Paper : 20 Marks » Total: 50 Marks
Writing : 10 Marks

Text Book Materials :

Unit One: Father of the Nation
Unit Two: Pastime

Unit Three: Events and Festivals
Unit Four: Are We Aware

Grammar Test:
Four test items (5x4=20 Marks) will be set according to the question pattern of NCTB

Writing Test: Writing a dialogue

Dialogue writing:

(a) A dialogue between two friends about preparation for the ensuing examination.

(b) A dialogue between two friends about the importance of learning English.

(c) A dialogue between two friends about the good and bad effects of Facebook.

(d) A dialogue between two friends about the bad sides of illiteracy and how to get rid of
the problem.

(e) A dialogue between two friends about the importance of tree plantation.

Marks Distribution

1. MCQ 1x5=5
2. Answering Questions 2x5=10
3. Information Transfer (Unseen Passage) 1x5=5
4. Substitution of table 1x5=5
5. Right forms of verbs 1x5=5
6. Changing sentences 1x5=5
7. Tag Questions 1x5=5
8. Writing a dialogue 10

Total Marks =50
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